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February 25, 2014

What are the parents graphs to these functions?

What are possible y= equations for each graph?

How many solutions does the parabola have? the absolute value?
What is the solution to this system of equations?

What are the solutions to the system of inequalities?

What are the domain and ranges of these functions?

What are the vertices?

What are the y-intercepts? x-intercepts?

What are the solutions to the inequality?

What are the solutions to the equation?

What are the equations of the graphs?

tHE VERTEX OF THE PARABOLA IS AT ZERO NEGATIVE Y
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What is the solution to the equation?
T = 2 w2 v
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What is the solution to this system of
equations?
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’ What is the solution to an inequality?

What is the solution to an inequality?
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What is the solution to a system of inequality?
|
I Z >\,
‘J— = )x ;2\+é

|\ [ 2
o ff_;' M\, 3—— "qx _I

,, V.. '. :'— = 5ol u’} ions

|
Y
weZ -2l
LA =z AP
T 3_%x [
! ;...-"




4.2.4 RP.notebook February 25, 2014




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

